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Unit Eleven: 11-3 Tangent Lines and Velocity (Distance Learning)

TangentLines =lwles)!
Instantaneous Rate of Change el add) Jase WL R ||

aalaud 583 il b ) e bl ML) g U, Al dlanall sne ) 1 ALl Lol taalll) anlh Jaea fa |

flx 0y — )

Lalgell sgag A= e 7 -_—“rin?l—“— alasz aly

i aSdedl dladl) sis Ao B WA Louigd (wlsed! ot deae
Find the slope of the line tangent to the graph of each function at the given point.

y=x%(3,9) y=x"+4;(-2,8)

=6 — 3 [— 7 3 2
¥y=6-—73 (-2 12) y=3;(13)
0507740983: J«al sill You
(a) ALl g ol on JOLAIL &) Al 2y Balall Aagal) Jagl g ) 5 culdlal) ) £ 52 )8
Easy Math/Tea. Bayan Arabli: https://t.me/BayanEasyMath12G



https://t.me/BayanEasyMath12G

e Olnrdalall dalra 2020/2021 GG ol Al Juaidl) aladl jdie G
(30 o aladll) dgaiall de pual) g ciladaal) 3-11 ¢ e LpalaliBas gl
Unit Eleven: 11-3 Tangent Lines and Velocity (Distance Learning)

idadh gl dae Wa S AW e Jupd Dolag ds

Find an equation for the slope of the graph each function at any point.

_;_;:_1-3—4_1-4.2 .lf:xj+3
—
y=x y=4—2x
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Unit Eleven: 11-3 Tangent Lines and Velocity (Distance Learning)

SLEDDING A person's vertical position on a sledding hill after as plzll (B e ,E,_u.'l A Gad i) piags ale) ez gl 2
traveling a horizontal distance x units awav from the top of I e B a3 e iws culasg X duse auudl dlus plad
the hill is given by y = 0.06x" — 1.08x> + 51.84 y = 006X — 1.08x* + 5184

&

LI SR o G O R e 7 Y

|I|lIPIII'x

a. F_:.nd an equation for the hill's slope m at any distance x. X adlaie ) daa M1 J2N Jee alilae —

b. Find the hill’s slope for x = 2 2 Gobus X aie Bl bo a o b
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Unit Eleven: 11-3 Tangent Lines and Velocity (Distance Learning)

Instantaneous Velocity Liiolil e ol

Average Velocity it s | Joriis g gu-f‘-‘:i' 2 geghio |

fiiall alads il Vie ull daugry sloul poe B g 8 cca) puslam ¥ ald JOE) ol als 5 pn P TP | B S 3 |

all b sl flbl = flgl
M7 gall bl b —a

R

ol glan ) i 0S5 .3Ma) Sl plasiuly paanas JSd el clo pall 343 pa sle gadls |
$2 3 1 ol T 0m 0slld) de p dasigzs oIS lilo ) = 2 + 208 — 51 aude ge lets a3da) am T l2a¥L

WATER BALLOON A water balloon is propelled straight up using a launcher. The height of the balloon in meters ¢:
seconds after it is launched can be defined by d(t) = 2 + 20t — 5t2. What was the balloon's average
velocity between = 1 and 27

sit) =06t + 20 .. 38=<1t=<57 s{itl = —05(t—8)2+3 .4=<t<45
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TYPING The number of words w a person has typed after dads bas be gasd LgaS 2l WonladSH sae sloul @ dalif
: . ) - 1

I minutes is given by w(l) = 1017 — % i, wit) =10 — -*2-1‘3 i b ESE

a. What was the average number of words per minute the 3 aadull 3 el oS o)l ldSH sae dawgig 1l o5 .2
person typed between the 2nd and 4th minutes? Caal My aalth ansall o La 3 zall

b. What was the average number of words per minute the o Al B e dd) LpaS i) b8 sae dawgis 3leS b

person typed between the 3rd and 7th minutes? Caalally @Il a2 300 s Ls & zall
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Instantaneous Velocity ddasll de st il T aagiasll
plascwl B el ane VIT) dclasdl de ol slow) po G (R sy alls 5 4. o RS baa, _91_” PLUOP I (R 1
fit+ hp— 1
oty = im0
—0 1

cialgall ageg ds lu

phas 392 420 ft gl )l le Lle Jow 30 amiadl o auas Gps selas d8lgall Ll Jlew asl dazu
B8 o3 s kD) = 420 — 58 5550 3 a )Y play olasd) pise Ge @) BLS 555 a8
ol 7 e clasll V() adasl) de ol o > le¥h daall pisges lstll T o))

A window washer accidentally drops his lunch off his scaffold 420 meters above the ground. The
position of the lunch in relation to the ground is given as d(t) = 420 — 512, where time ¢ is given in

seconds and the position of the lunch is given in meters. Find the instantaneous velocity v (1) of
the lunch at 7 seconds.
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dionl)) Ag pusd) des A1) pladuiul aloliv) (o dsl  oms 0o Y o (e Lo peas gd pii G2 d Wby slow! (54
A i jaSded) dedd! dis pessul)

The distance d an object is above the ground f seconds after it is dropped is gi-,renr by d(t). Find the instantaneous

velocity of the object at the given value for t.

d{t) =38t — 1662+ = 0.8

dif)y =100 — 16¢% t =3
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poesi a> S(H =308 — 517 Yl (e sl fam ay¥ e ile gaslal el @3Lad aloy) e
B ase; dam g aie Sl zoslall V(D) adaslll ic

The distance in meters of a water rocket from the ground after { seconds is given by
s(f) = 30t — 5¢2. Find the expression for the instantaneous velocity v (1) of the rocket at any

time £.

face; dad g? slt) aie B,ad i slse 1S 13) V1) Adionll) Ao pusl) Wslas s

Find an equation for the instantaneous velocity v(f) if the path of an object is defined as s(f) for any point in time .

sitl =5t + 8

o
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